A (20123 128 209, ©9] : HH/F)
T £ o x s A e

e & gl ;' ;Ej skl ;_' oA | oA | zue | sue | wme | 4 4
8% 30 | 108 | 31 307 | 232 | 1446 | 3354 | 3479 | 2322 | 967 3132
0% 109 | 92 27 | 284 | 216 | 1454 | 3262 | 3395 | 2267 | 933 3125
0g 20y | 97 36 | 204 | 208 | 1481 | 3241 | 3461 | 2299 | 1033 | 3202
0% 302 | 96 o7 | 202 | 224 | 1479 | 3300 | 3472 | 2368 | 1008 | 2869
102102 | 95 23 | 270 | 213 | 1482 | 3290 | 3389 | 2365 | 999 3.214
10¢ 209 | 93 o4 | 266 | 206 | 1436 | 3228 | 3346 | 2319 | 975 2932
10% 302 | 98 21 280 | 205 | 1472 | 3212 | 3365 | 2341 | 994 2740
118102 | 79 19 | 246 | 183 | 1476 | 3163 | 3265 | 2268 | 970 3,142
112 202 | 84 20 | 250 | 191 | 1483 | 3175 | 3304 | 2239 | 1026 | 2821
112 302 | 8 20 | 256 | 195 | 1435 | 3170 | 3280 | 2282 | 921 2886
122102 | 80 19 | 244 | 191 | 1340 | 3021 | 3149 | 2165 | 963 3,008
122 202 | 69 17 | 233 | 184 | 1402 | 3116 | 3250 | 2226 | 967 3.058

TZ  HAEMNE), sEHISAME 7HEHE)

Lt ot (20124 128 262, ©H @ HE)

2 = ’%j(')—%%% ?;f HASE ’:‘Jﬂ’gi Hele Sl el

i 1112 12, 11 11~20 12.26

A | 24(600kg) | & 4763 3622 3,496 3.320 3,569 15
x| a0lx] | & 1759 1226 1435 1,441 1305 6.4
b | (A~BEH) | o 1,501 921 823 658 813 17
g S01X| e 1987 1372 1587 1479 1555 13.3
@y | (6~7EF) | o 1691 1068 869 876 826 T

A2 s HREME /1E5E)
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D EG R

SEO{ALE 7|Z7H ZEE-ATH| H271H ook
T = 12/21 12/24 | 12/26 gg@g@@ﬂ@%ﬁgj
e 5 8 - - =1 i A
MMNZ(IH) | 8000 | 7932 | 7068
Aol usmeim) | o481 | 7160 | 9818
BAZDEA) | 5487 | 6041 -
AT - -
Pl EEIE) e L .

(E191 : %)
& 1ASE 1BSZ 252 = A55
T = (3ato]ah) (108tojah (250tn/ah) (50t0l3) (508k=m)
10¢ 923 6.2 1.1 0.2 0.1
20124 =
k=] 916 7.0 1.0 0.3 0.1
| MMz S WA TAH| o] | A,
= 152 26 3= o5 56
T = (208t0jah) | (35@tnjan (508tn|ah (75aF05H) (758k2T)
10¢ 446 420 10.5 27 0.2
20124
1 476 402 96 2.4 02
| M+ 1ASE |2 24| | | HMZ 153 5 24| |
T - HAWEISLE%) 281 O S ZE)
F— = N b 60 B s — 40
@ 0 o= MUnHERE 1%
65 -+ 153 748
20
k0.0
20
HANHISLE(%)
i + IAST THUIR e
e 74 38 4 59 68 78 63 o8 o8 g : yr—— Erm
e s T2 E:g; 112%1 28 38 48 5% 6% 7¥ 8% 9% 0¥ n¥

A2 SsrIEs
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A L S

o At A HAESF 2XE2R
1E 589 72 517
2011 2% 1648 512 1136
12 3,433 847 2,586
28 5,454 030 4.424
3¥ 7.469 1,065 6,404
449 8,495 1,019 7,476
5% 9,919 1133 8,786
20124 6% 9,846 1,011 8835
78 8,687 Q12 7,775
8% 9,551 913 8638
0% 9,083 727 8,356
10€ 8732 607 8125
e 7.424 332 7.092
Xz 4=383
) RAE 294N )
12, 1~11 SHE SUAH i
(ol &, 2m)
Lozt 12, 1~11 41, 1~11 o H|(%)
g = S(A) FU(B) SEA) FAU(B") A/A B/B
w39 32(0|5F) 869 661 129 120 6736% | 550.8%
3 H(45/71E 264 738 15,493 49,452 17% 15%
g x B2 £ 17276 56,041 24,510 92,035 70.5% 60.9%
3 x 2 g 1564 5,954 3938 17,272 39.7% 345%
o =] 207 966 409 1,310 50.6% 737%
'} S =) 122 906 102 854 119.6% 106.1%
W OB 2 3 44 297 20 147 2200% | 202.0%
= £ 39,483 62,318 28,684 39,748 137.6% 156.8%
H =] 7,039 29,236 7,605 36,910 92.6% 79.2%
x| = 68830 | 320723 68,864 321,093 100.0% 99.9%
- = 15,739 30,473 17,662 23,260 89.1% 131.0%
7t A ol 2 25 5 48 40.0% 52.1%
8t 7 151,439 | 508338 167,421 582249 90.5% 87.3%
R : M
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Lt 230} 27, HE, Olo]A3E ZXHE

2ozt 2= Bl o HI(%)
== E&(A) =%4(B) SY(A) | SAU(B) A/N B/B’
ZHER/HEE 2,805 43,043 2,840 37,785 98.8% 113.9%
E 8 B % 25,402 83,808 34172 115,750 74.3% 72.4%
H OB = HM = 19,815 71,098 27,072 127,711 73.2% 56.4%
ool A3 ZHE 1,104 7,190 1,046 6,701 105.5% 107.3%
RERENE
D R
7k 2. 1~11 Aar] £ M el £ 3
xojzy 12, 111 i o HI(%)
E = F2(A) =9%(B) SY(A) | 24(B) AlN B/B’
4 4 1 7 28,866 246,174 35,469 285,625 81.4% 86.2%
4 5 & 1 7| 112,706 547,885 138,824 680,072 81.2% 80.6%
g A 141672 794,059 174,293 965,697 81.2% 82.2%
TE EME
L 12, 1v11 2 BME 49 A AT
ozt i il A o HI(%)
s 5 F(A) SA(B) F(A) | 3U(B) AlN B/B’
2 =2l 3 1,626 12,336 1,100 7957 147.8% 155.0%
] 13 37 22 72 59.1% 51.4%
n =] 3,089 16,995 4,017 23,622 76.9% 71.9%
= 2,638 2,815 3,687 4682 71.5% 60.1%
A 9 & 6,308 10,994 4891 7072 129.0% 155.5%
71 Et 24,217 104,576 24,362 104,138 99.4% 100.4%
RIS
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